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Multiplikation mit Dezimalen (vertikal) Name:
L 6se jede Aufgabe. Antworten
) 718 2) 40,28 3 1,3
. 1,4 . 34 . 3,7 -
2.
3.
4.
5.
4 1,7 5) 97,45 6 4,4
. 3,4 . 872 . 9,9 >
7.
8.
9.
10.
7) 92,0 8) 87,64 9 11
. 7,0 . 98 . 5,3 H
12.
10) 53.0 11) 73,04 12) 1,5
. 5,3 . 7,5 e 51
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Multiplikation mit Dezimalen (vertikal) Name: L Osungsschliussel
L 0se jede Aufgabe. Antworten
1) 2) 3)
7,18 40,28 1,3 . 10,052
e 14 . 3,4 e 3,7
2872 16112 91 2 136,952
+ 7180 + 120840 + 390
10,052 136,952 4,81 3 4,81
4, 5,814
5. 799,090
4) 5) 6)
1,71 97,45 4,4 . 4356
e 3,4 . 8,2 e 99
684 19490 396 7 644,00
+ 5130 + 779600 + 3960
5,814 799,090 43,56 g. 858,872
0. 5,83
10. 280,90
7 8 9
) 92,0 ) 87,64 ) 1,1 . 547.800
b 7,0 M 918 ° 5’3
0 70112 33 12, 7,65
+ 64400 + 788760 + 550
644,00 858,872 5,83
10) 53.0 11) 73,04 12) 1,5
. 5,3 . 7,5 e« 51
1590 36520 15
+ 26500 + 511280 + 750
280,90 547,800 7,65
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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Multiplikation mit Dezimalen (vertikal) Name:
L 6se jede Aufgabe. Antworten
858,872 10,052 644,00
136,952 4,81 799,090
43,56 5,814 5,83
1) 7,18 2) 40,28 3) 1,3
e 1,4 . 3,4 e 3,7
4 1,71 5 97,45 6 4,4
e 34 . 8,2 99
7) 92,0 8) 87,64 9) 1,1
. 7,0 b 9,8 ° 513

Geandert
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1-9 |89]|78]67[56]44[33[22[11] 0 |
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